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Results for: DRAGONFLY VS. CONTROL

Kruskal-Wallis Test: f.strike versus treatment 

Kruskal-Wallis Test on f.strike

treatment   N       Median  Ave Rank      Z

C          48  0.000000000      50.0   0.53

D          48  0.000000000      47.0  -0.53

Overall    96                   48.5

H = 0.28  DF = 1  P = 0.598

H = 0.34  DF = 1  P = 0.557  (adjusted for ties)

Kruskal-Wallis Test: h.move versus treatment 

Kruskal-Wallis Test on h.move

treatment   N  Median  Ave Rank      Z

C          48   1.000      50.1   0.57

D          48   1.000      46.9  -0.57

Overall    96              48.5

H = 0.32  DF = 1  P = 0.570

H = 0.35  DF = 1  P = 0.553  (adjusted for ties)

Kruskal-Wallis Test: w.move versus treatment 

Kruskal-Wallis Test on w.move

treatment   N  Median  Ave Rank      Z

C          48   5.000      48.9   0.13

D          48   4.500      48.1  -0.13

Overall    96              48.5

H = 0.02  DF = 1  P = 0.898

H = 0.02  DF = 1  P = 0.896  (adjusted for ties)

Results for: PERCH VS. CONTROL 

Kruskal-Wallis Test: f.strike versus treatment 

Kruskal-Wallis Test on f.strike

treatment   N       Median  Ave Rank      Z

C          48  0.000000000      45.6  -1.03

P          48  1.000000000      51.4   1.03

Overall    96                   48.5

H = 1.05  DF = 1  P = 0.305

H = 1.20  DF = 1  P = 0.273  (adjusted for ties)

Kruskal-Wallis Test: h.move versus treatment 

Kruskal-Wallis Test on h.move

treatment   N  Median  Ave Rank      Z

C          48   1.000      45.3  -1.12

P          48   1.500      51.7   1.12

Overall    96              48.5

H = 1.25  DF = 1  P = 0.264

H = 1.32  DF = 1  P = 0.251  (adjusted for ties)

Kruskal-Wallis Test: w.move versus treatment 

Kruskal-Wallis Test on w.move

treatment   N  Median  Ave Rank      Z

C          48   5.000      47.5  -0.37

P          48   6.000      49.5   0.37

Overall    96              48.5

H = 0.13  DF = 1  P = 0.714

H = 0.14  DF = 1  P = 0.709  (adjusted for ties)

Results for: Dragonfly vs control

One-way ANOVA: f.strike versus treatment 

Source     DF      SS    MS     F      P

treatment   1    0.26  0.26  0.05  0.816

Error      94  450.23  4.79

Total      95  450.49

S = 2.189   R-Sq = 0.06%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  ---+---------+---------+---------+------

C      48  1.208  1.675  (-----------------*----------------)

D      48  1.313  2.602     (----------------*-----------------)

                         ---+---------+---------+---------+------

                          0.70      1.05      1.40      1.75

Pooled StDev = 2.189

One-way ANOVA: h.move versus treatment 

Source     DF      SS    MS     F      P

treatment   1    1.04  1.04  0.36  0.551

Error      94  272.79  2.90

Total      95  273.83

S = 1.704   R-Sq = 0.38%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev   -+---------+---------+---------+--------

C      48  1.563  1.773          (---------------*---------------)

D      48  1.354  1.631   (---------------*---------------)

                          -+---------+---------+---------+--------

                         0.90      1.20      1.50      1.80

Pooled StDev = 1.704

One-way ANOVA: w.move versus treatment 

Source     DF     SS   MS     F      P

treatment   1     40   40  0.29  0.590

Error      94  12871  137

Total      95  12911

S = 11.70   R-Sq = 0.31%   R-Sq(adj) = 0.00%

                        Individual 95% CIs For Mean Based on

                        Pooled StDev

Level   N  Mean  StDev  -------+---------+---------+---------+--

C      48  8.04   9.10  (----------------*----------------)

D      48  9.33  13.82         (----------------*---------------)

                        -------+---------+---------+---------+--

                             6.0       8.0      10.0      12.0

Pooled StDev = 11.70

Results for: Perch vs control

One-way ANOVA: f.strike versus treatment 

Source     DF      SS    MS     F      P

treatment   1    8.17  8.17  1.83  0.180

Error      94  419.83  4.47

Total      95  428.00

S = 2.113   R-Sq = 1.91%   R-Sq(adj) = 0.86%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  --------+---------+---------+---------+-

C      48  1.208  1.675  (-----------*-----------)

P      48  1.792  2.475              (-----------*-----------)

                         --------+---------+---------+---------+-

                               1.00      1.50      2.00      2.50

Pooled StDev = 2.113

One-way ANOVA: h.move versus treatment 

Source     DF      SS     MS     F      P

treatment   1   15.84  15.84  2.65  0.107

Error      94  563.06   5.99

Total      95  578.91

S = 2.447   R-Sq = 2.74%   R-Sq(adj) = 1.70%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  ------+---------+---------+---------+---

C      48  1.563  1.773  (-----------*-----------)

P      48  2.375  2.972                (-----------*----------)

                         ------+---------+---------+---------+---

                             1.20      1.80      2.40      3.00

Pooled StDev = 2.447

One-way ANOVA: w.move versus treatment 

Source     DF    SS   MS     F      P

treatment   1    48   48  0.46  0.498

Error      94  9778  104

Total      95  9826

S = 10.20   R-Sq = 0.49%   R-Sq(adj) = 0.00%

                        Individual 95% CIs For Mean Based on

                        Pooled StDev

Level   N  Mean  StDev  ----+---------+---------+---------+-----

C      48  8.04   9.10  (-------------*--------------)

P      48  9.46  11.19         (-------------*--------------)

                        ----+---------+---------+---------+-----

                          6.0       8.0      10.0      12.0

Pooled StDev = 10.20
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Kruskal-Wallis Test: f.strike versus treatment 

Kruskal-Wallis Test on f.strike

treatment   N  Median  Ave Rank      Z

C          38   1.000      39.8   0.70

D          37   1.000      36.2  -0.70

Overall    75              38.0

H = 0.50  DF = 1  P = 0.481

H = 0.55  DF = 1  P = 0.459  (adjusted for ties)

Kruskal-Wallis Test: h.move versus treatment 

Kruskal-Wallis Test on h.move

treatment   N  Median  Ave Rank      Z

C          38   1.500      38.8   0.32

D          37   2.000      37.2  -0.32

Overall    75              38.0

H = 0.10  DF = 1  P = 0.747

H = 0.11  DF = 1  P = 0.741  (adjusted for ties)

Kruskal-Wallis Test: w.move versus treatment 

Kruskal-Wallis Test on w.move

treatment   N  Median  Ave Rank      Z

C          38   8.000      38.3   0.10

D          37   7.000      37.7  -0.10

Overall    75              38.0

H = 0.01  DF = 1  P = 0.920

H = 0.01  DF = 1  P = 0.920  (adjusted for ties)

Results for: Worksheet 2

Kruskal-Wallis Test: f.strike versus treatment 

Kruskal-Wallis Test on f.strike

treatment   N  Median  Ave Rank      Z

C          38   1.000      36.0  -0.97

P          38   2.000      41.0   0.97

Overall    76              38.5

H = 0.94  DF = 1  P = 0.331

H = 1.00  DF = 1  P = 0.318  (adjusted for ties)

Kruskal-Wallis Test: h.move versus treatment 

Kruskal-Wallis Test on h.move

treatment   N  Median  Ave Rank      Z

C          38   1.500      34.6  -1.54

P          38   2.000      42.4   1.54

Overall    76              38.5

H = 2.36  DF = 1  P = 0.124

H = 2.46  DF = 1  P = 0.117  (adjusted for ties)

Kruskal-Wallis Test: w.move versus treatment 

Kruskal-Wallis Test on w.move

treatment   N  Median  Ave Rank      Z

C          38   8.000      37.2  -0.51

P          38  11.000      39.8   0.51

Overall    76              38.5

H = 0.26  DF = 1  P = 0.611

H = 0.26  DF = 1  P = 0.610  (adjusted for ties)

One-way ANOVA: f.strike versus treatment 

Source     DF      SS    MS     F      P

treatment   1    8.22  8.22  1.69  0.198

Error      74  360.45  4.87

Total      75  368.67

S = 2.207   R-Sq = 2.23%   R-Sq(adj) = 0.91%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  -----+---------+---------+---------+----

C      38  1.605  1.748  (-----------*-----------)

P      38  2.263  2.586             (-----------*-----------)

                         -----+---------+---------+---------+----

                            1.20      1.80      2.40      3.00

Pooled StDev = 2.207

One-way ANOVA: h.move versus treatment 

Source     DF      SS     MS     F      P

treatment   1   22.12  22.12  3.55  0.063

Error      74  460.76   6.23

Total      75  482.88

S = 2.495   R-Sq = 4.58%   R-Sq(adj) = 3.29%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  ----+---------+---------+---------+-----

C      38  1.921  1.776  (----------*-----------)

P      38  3.000  3.049                 (-----------*----------)

                         ----+---------+---------+---------+-----

                           1.40      2.10      2.80      3.50

Pooled StDev = 2.495

One-way ANOVA: w.move versus treatment 

Source     DF    SS   MS     F      P

treatment   1    54   54  0.51  0.476

Error      74  7773  105

Total      75  7827

S = 10.25   R-Sq = 0.69%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  --+---------+---------+---------+-------

C      38  10.26   9.04  (------------*------------)

P      38  11.95  11.33         (------------*------------)

                         --+---------+---------+---------+-------

                         7.5      10.0      12.5      15.0

Pooled StDev = 10.25

Results for: Worksheet 1

One-way ANOVA: f.strike versus treatment 

Source     DF      SS    MS     F      P

treatment   1    0.18  0.18  0.03  0.859

Error      73  406.81  5.57

Total      74  406.99

S = 2.361   R-Sq = 0.04%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  ---+---------+---------+---------+------

C      38  1.605  1.748  (--------------*--------------)

D      37  1.703  2.856    (--------------*---------------)

                         ---+---------+---------+---------+------

                          1.00      1.50      2.00      2.50

Pooled StDev = 2.361

One-way ANOVA: h.move versus treatment 

Source     DF      SS    MS     F      P

treatment   1    0.51  0.51  0.17  0.680

Error      73  215.57  2.95

Total      74  216.08

S = 1.718   R-Sq = 0.23%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  ------+---------+---------+---------+---

C      38  1.921  1.776       (---------------*---------------)

D      37  1.757  1.657  (---------------*---------------)

                         ------+---------+---------+---------+---

                             1.40      1.75      2.10      2.45

Pooled StDev = 1.718

One-way ANOVA: w.move versus treatment 

Source     DF     SS   MS     F      P

treatment   1     64   64  0.43  0.512

Error      73  10753  147

Total      74  10817

S = 12.14   R-Sq = 0.59%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  -----+---------+---------+---------+----

C      38  10.26   9.04  (---------------*---------------)

D      37  12.11  14.65          (--------------*---------------)

                         -----+---------+---------+---------+----

                            7.5      10.0      12.5      15.0

Pooled StDev = 12.14

TOTAL ACTIVITY
One-way ANOVA: activity versus treatment 

Source     DF     SS   MS     F      P

treatment   1     28   28  0.15  0.698

Error      94  17436  185

Total      95  17464

S = 13.62   R-Sq = 0.16%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  --+---------+---------+---------+-------

C      48  10.92  11.65  (---------------*--------------)

D      48  12.00  15.34      (---------------*---------------)

                         --+---------+---------+---------+-------

                         7.5      10.0      12.5      15.0

Pooled StDev = 13.62

One-way ANOVA: activity_1 versus treatment_1 

Source       DF     SS   MS     F      P

treatment_1   1    176  176  1.08  0.301

Error        94  15285  163

Total        95  15461

S = 12.75   R-Sq = 1.14%   R-Sq(adj) = 0.09%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  ------+---------+---------+---------+---

C      48  10.92  11.65  (-----------*------------)

P      48  13.63  13.77           (-----------*------------)

                         ------+---------+---------+---------+---

                             9.0      12.0      15.0      18.0

Pooled StDev = 12.75

Kruskal-Wallis Test: activity versus treatment 

Kruskal-Wallis Test on activity

treatment   N  Median  Ave Rank      Z

C          48   6.500      48.9   0.15

D          48   6.500      48.1  -0.15

Overall    96              48.5

H = 0.02  DF = 1  P = 0.883

H = 0.02  DF = 1  P = 0.882  (adjusted for ties)

Kruskal-Wallis Test: activity_1 versus treatment_1 

Kruskal-Wallis Test on activity_1

treatment_1   N  Median  Ave Rank      Z

C            48   6.500      46.1  -0.83

P            48  10.000      50.9   0.83

Overall      96              48.5

H = 0.69  DF = 1  P = 0.408

H = 0.70  DF = 1  P = 0.404  (adjusted for ties)

One-way ANOVA: activity_2 versus undermesh 

Source      DF     SS   MS     F      P

undermesh    1     68   68  0.36  0.547

Error      142  26457  186

Total      143  26525

S = 13.65   R-Sq = 0.26%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev   -+---------+---------+---------+--------

0      86  12.74  14.42             (--------------*-------------)

1      58  11.34  12.41   (-----------------*----------------)

                          -+---------+---------+---------+--------

                         8.0      10.0      12.0      14.0

Pooled StDev = 13.65

One-way ANOVA: activity_2 versus sex 

Source   DF     SS   MS     F      P

sex       1      1    1  0.00  0.951

Error   142  26525  187

Total   143  26525

S = 13.67   R-Sq = 0.00%   R-Sq(adj) = 0.00%

                         Individual 95% CIs For Mean Based on

                         Pooled StDev

Level   N   Mean  StDev  -----+---------+---------+---------+----

f      72  12.11  12.99  (---------------*--------------)

m      72  12.25  14.31  (---------------*---------------)

                         -----+---------+---------+---------+----

                           10.0      12.0      14.0      16.0

Pooled StDev = 13.67

